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Pre-Algbera Name
Properties Worksheet Date
Name the Property

1) (127 +4)3=3(12.7) + 3(4)

2) 32+65=65+32

3) 9+(6+12)=(9+6)+12

4) 6404545064

5) (7.842)+(4202)=(78+42)2
True or False?

6) 6(3 +12) = 6(3) + 6(12)

7) 5+@e7)=(6+3)e(5+7)

8) 6+7+4+3=10+10

9) 9(15.1-6.3) = 9(15.1) + 9(6.3)

10) 15(2 +7.4)= (15 +2) (15 +7.4)

[T
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For each statement...a) what value of the variable makes the statement true?
b) what property is llustrated?

11) 6.4+n=32+647 a______
12) 98-5)=72-m a) y__
13) (6+4.03)+.97=6+(y+97) a_____ b
14) 4.8+39=3.99 a) ) J—
15) 3(2+4.8) = (2n) * (4.8n) B —)
16) (159 3)42=9(3 +4.2) a_____ b
17) 5(11.7 +313)=585+d a___ b

) I

18) (701.2)+(7 «38)=Tm &)
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Replace each ® with <, >, or = to make a true sentence.

1Loes 2.-50-3 3.10-7
1.-40 -4 5. -12010 6.50-6
7.-60-7 8.0 9. -10@ -10

Order each set of integers from least to greatest.

10. (-5,-7,0,5,7) 11 (-1,2,-3,4
12. (-2, -4, -6, -8, ~10, -12) 13.(0,-9,-3,-7,1,-1)

Evaluate each expression.

14. |-19] 15. |15 16. 0]

17. |-1]+]3] 18. |-19]+|-8| 19. |-12|-|4]

Evaluate each expression ifk = 4,m = —2,n = 7,and p = —5.

20. [m|+6 21.n-|p| 22k +|p|

23.5[n| +k 24, [n| -4 25.9|m| - 14




image4.png
Subtract.

1.15-7 2.3-12
44-(-12) 18- (-7 6. -8 (-9)
7. -14 - (-18) 8. -19 - (-13) 9.8 (-22)

10.-1-15 1112 - 19 12. -10 - (-5)

Evaluate each expression ifd = 4, f= ~7,and g = 11.
18.d-10 M.g-15 15.d-g

16.d-f 17.d-f-g 18.g-d-f
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Simplify.

2.2 - (9 - (019 2310~ [+ (-16)]

24. 25 — [16 + (-9)] 25. (22 - (-18)] - (=5 + 11)

26. (=5 +9) ~ (-20 ~ 12) 27, 15 + (-7 — (8 — 11)




image6.png
Simplify each expression.

1

.

13.

15.

17.

8+2x7 2.
851 a.
3+2-5-4 6.
9:3+2:5 8
5@+4) 15+ (9-6) 10.
(8+7)+(3+2) 12,
4:948+2-6-5 .
53 - [3(8 +2) + 50 - 5)) 16.
296 - 5] 18

16+2-5

L 4-24+8

.15 - 2(5-2)

L 12+4-6+3

3.2416+4-3

8 -3-2+4(5-2)
(743248 %7

(20+22)=6+1

5+3.4-8+2-7




